# Wolfgang Lusky On the isomorphic classification of weighted spaces of holomorphic functions

Acta Universitatis Carolinae. Mathematica et Physica, Vol. 41 (2000), No. 2, 51--60

Persistent URL: http://dml.cz/dmlcz/702069

## Terms of use:

© Univerzita Karlova v Praze, 2000

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://project.dml.cz

# On the Isomorphic Classification of Weighted Spaces of Holomorphic Functions

W. LUSKY

Paderborn

Received 11. March 2000

We show that there are only two isomorphism classes for weighted spaces of holomorphic functions on the unit disk with moderately decreasing weights. In particular a space of holomorphic functions with a weighted sup-norm here is either isomorphic to  $l_{\infty}$  or to  $H_{\infty}$  depending on special properties of the weight which can be easily checked.

## **1** Introduction

We deal with Banach spaces of holomorphic functions on

$$D = \{z \in \mathbb{C} : |z| < 1\}.$$

For 0 < r and  $1 \le p < \infty$  put

$$M_p(f,r) = \left(\frac{1}{2\pi}\int_0^{2\pi} |f(re^{i\theta})| \,\mathrm{d}\theta\right)^{1/p}$$

and  $M_{\infty}(f, r) = \sup_{|z|=r} |f(z)|.$ 

We study holomorphic functions f on D where  $M_p(f, r)$  grows in a controlled way as  $r \to 1$  according to a given weight measure  $\mu$ . So, let  $\mu$  be a positive bounded Borel measure on [0, 1] and put, for  $1 \le p \le \infty$ ,

$$\|f\|_{p,q} = \left(\int_{0}^{1} M_{p}^{q}(f,r) \,\mathrm{d}\mu(r)\right)^{1/q} \text{ if } 1 \le q < \infty$$

and  $||f||_{p,\infty} = \sup_{0 \le r < 1} (M_p(f, r) \mu([r, 1]))$ . Define

 $B_{p,q}(\mu) = \{f: D \to \mathbb{C} : f \text{ holomorphic, } \|f\|_{p,q} < \infty \}$ 

Fachbereich 17, Universität Gesamthochschule, Warburger Strasse 100, D-33098 Paderborn, Germany. This research was supported by DFG, No. LU 219/7-2.

and

$$B_{p,0}(\mu) = \{ f \in B_{p,\infty}(\mu) : \lim_{r \to 1} M_p(f,r) \ \mu([r,1]) = 0 \}.$$

The assumption of boundedness of  $\mu$  ensures that these spaces contain all polynomials. The  $B_{p,q}(\mu)$  are Banach spaces under the given norms  $\|\cdot\|_{p,q}$  (see [13]). We want to assume that  $\mu$  satisfies

(1.1) 
$$\lim_{r \to 1} \mu([r, 1]) = 0.$$

(If  $\mu(\{1\}) > 0$  then we would obtain, for example, that  $B_{p,p}(\mu)$  is isomorphic to  $H_{p}$ .) Moreover we want to assume that

$$0 < \mu([r, 1])$$
 for each  $r < 1$ . (1.2)

((1.2) is not really a restriction. If supp  $\mu \subset [0, a]$  for some a < 1 then we could replace, [0, 1] by [0, a] and use substitution to reduce everything to the case a = 1.)

So from now on we assume (1.1) and (1.2). Note that we obtain, for a holomorphic function  $f: D \to \mathbb{C}$ ,

$$f \in B_{p,\infty}(\mu)$$
 if and only if  $M_p(f,r) = O\left(\frac{1}{\mu([r,1])}\right)$  as  $r \to 1$ 

while

$$f \in B_{p,0}(\mu)$$
 if and only if  $M_p(f,r) = o\left(\frac{1}{\mu([r,1])}\right)$  as  $r \to 1$ .

 $B_{\infty,0}(\mu)$  and  $B_{\infty,\infty}(\mu)$  have been studied by Shields and Williams ([19], [20]) and by many other authors.

Similarly, the elements in  $B_{p,q}(\mu)$  for  $1 \le q < \infty$  are characterized by average growth conditions for  $M_p(f, r)$ .

**Example.** Let  $d\mu(r) = 2\pi r \, dr$ . Then

$$||f|_{p,p} = \left( \iint_{D} |f(x + iy)|^{p} \, \mathrm{d}x \, \mathrm{d}y \right)^{1/p}$$

and  $B_{p,p}(\mu)$  is the classical Bergman space.

The aim of this paper is to finish the isomorphic classification of  $B_{p,q}(\mu)$  for moderately decreasing  $\mu$  which was started in [12] and [13].

**1.1. Definition.** Let  $\mu$  be a bounded Borel measure on [0, 1] satisfying (1.1) and (1.2). We consider the following conditions

(\*) 
$$\sup_{n} \frac{\mu([1-2^{-n},1])}{\mu([1-2^{-n-1},1])} < \infty \text{ and}$$
  
(\*\*) 
$$\inf_{k=1,2...} \limsup_{n \to \infty} \frac{\mu([1-2^{-n-k},1])}{\mu([1-2^{-n},1])} < 1$$

For further characterizations of the conditions (\*) and (\*\*) see [4].

52

**Examples.**  $d\mu_1(r) = (1 - r)^a dr$  for some  $\alpha > -1$  and  $d\mu_2(r) = r^\beta dr$  for some  $\beta > -1$  satisfy (\*) and (\*\*). (This includes the Bergman spaces.) On the other hand,

$$\mu_3 = \sum_{k=1}^{\infty} \frac{1}{k(k+1)} \,\delta_{1-2^{-k}}$$

and

$$d\mu_4(r) = rac{dr}{(1-r)\log^{\gamma}\left(e/(1-r)\right)}$$
 for some  $\gamma > 1$ 

fulfill (\*) but not (\*\*).

In [13] it was shown that

 $B_{p,q}(\mu)$  is isomorphic to  $(\sum_{n} \oplus l_{p}^{n})_{(q)}$  for any q if  $1 provided that <math>\mu$  satisfies (\*).

(For Banach spaces  $X_n$  we put

$$\left(\sum_{n} \bigoplus X_{n}\right)_{(q)} = \left\{\left(x_{n}\right) : x_{n} \in X_{n} \text{ for all } n, \left(\sum_{n} \|x_{n}\|^{q}\right)^{1/q} < \infty\right\}$$
  
if  $1 \le q$   
$$\left(\sum_{n} \bigoplus X_{n}\right)_{(\infty)} = \left\{\left(x_{n}\right) : x_{n} \in X_{n} \text{ for all } n, \sup_{n} \|x_{n}\| < \infty\right\} \text{ and}$$
  
$$\left(\sum_{n} \bigoplus X_{n}\right)_{(0)} = \left\{\left(x_{n}\right) \in \left(\sum_{n} \bigoplus X_{n}\right)_{(\infty)} : \lim_{n \to \infty} \|x_{n}\| = 0\right\}\right)$$

Now we clarify the remaining cases. Let  $A_p^n = \text{span}\{1, z, z^2, ..., z^n\}$  be endowed with the norm  $M_p(f, 1)$ . Then we have

**1.2. Theorem.** Let  $\mu$  satisfy (\*). Assume that  $p \in \{1, \infty\}$ .

If  $\mu$  satisfies (\*\*) then  $B_{p,q}(\mu)$  is isomorphic to  $(\sum_{n} \oplus l_{p}^{n})_{(q)}$  for arbitrary q. If  $\mu$  does not satisfy (\*\*) then  $B_{p,q}(\mu)$  is isomorphic to  $(\sum_{n} \oplus A_{p}^{n})_{(q)}$  for arbitrary q.

The first part of the theorem was already proved in [13], Corollary 2.7. We prove the remaining part in section 3.

**1.3. Corollary.** Let  $\mu$  satisfy (\*). If  $\mu$  also satisfies (\*\*) then  $B_{\infty,\infty}(\mu)$  is isomorphic to  $l_{\infty}$ . If  $\mu$  does not satisfy (\*\*) then  $B_{\infty,\infty}(\mu)$  is isomorphic to  $H_{\infty}$ .

**Proof.** If  $\mu$  satisfies (\*\*) then  $B_{\infty,\infty}(\mu)$  is isomorphic to  $(\sum_n \oplus l_{\infty}^n)_{(\infty)}$  which is  $l_{\infty}$ . Otherwise  $B_{\infty,\infty}(\mu)$  is isomorphic to  $(\sum_n \oplus A_{\infty}^n)_{(\infty)}$  which itself is isomorphic to  $H_{\infty}$  ([22], III E 18).

**Problem.** Does Theorem 1.2. remain true if  $\mu$  does not satisfy (\*)?

In [13] also the corresponding spaces  $b_{p,q}(\mu)$  of harmonic functions were investigated. It turned out that, in contrast to  $B_{p,q}(\mu)$ ,  $b_{p,q}(\mu)$  is always isomorphic to  $(\sum_n \oplus l_p^n)_{(q)}$  if  $\mu$  satisfies (\*).

This is no longer true if we drop the assumption (\*): In [14] an example was constructed where both spaces,  $B_{\infty,\infty}(\mu)$  and  $b_{\infty,\infty}(\mu)$  are not isomorphic to  $l_{\infty}$ . On the other hand, if  $\mu([r, 1)] = \exp(-1/(1 - r))$ , then  $\mu$  does not satisfy (\*). But here  $B_{\infty,\infty}(\mu)$  and  $b_{\infty,\infty}(\mu)$  are isomorphic to  $l_{\infty}$  (see [15]). So, also in the case where (\*) does not hold, there are at least two different isomorphism classes of  $B_{\infty,\infty}(\mu)$ .

In the following, if not noted otherwise, p is always a fixed element of  $[1, \infty]$  and q is a fixed element of  $\{0\} \cup [1, \infty]$ .

2 The spaces 
$$(\sum_n \oplus A_p^n)_{(q)}$$

For  $f(r e^{i\theta}) = \sum_{k\geq 0} \alpha_k r^k e^{ik\theta}$  put

(2.1) 
$$(\sigma_n f) (r e^{i\theta}) = \sum_{k=0}^n \alpha_k \frac{n-k}{n} \alpha_k r^k e^{ik\theta}$$

It is well-known that  $\sigma_n$  is contractive with respect to the norms  $M_p(f, r)$  (for fixed r), see for example [10].

**2.1. Lemma.** Let  $n_1$  and  $n_2$  be positive integers. If  $m \le \min(n_1, n_2)$  then there is an isometry  $i: A_p^m \to (A_p^{n_1} \oplus A_p^{n_2})_{(q)}$  and a projection  $P: (A_p^{n_1} \oplus A_p^{n_2})_{(q)} \to i(A_p^m)$  with  $\|P\| \le 2$  and

(2.2) 
$$P(z^k, 0) = 0 = P(0, z^k)$$
 if  $k > m$ .

**Proof.** Put  $(Uf)(z) = z^m f(\overline{z})$ . Define

$$i\left(\sum_{k=0}^{m}\alpha_{k}z^{k}\right)=\sum_{k=0}^{m}\alpha_{k}\frac{1}{2^{1/q}}\left(z^{k},z^{m-k}\right)$$

which is easily checked to be an isometry. (Recall, we consider the norms  $M_p(\cdot, 1)$ .) Then take  $P: (A_p^{n_1} \oplus A_p^{n_2})_{(q)} \to i(A_p^m)$  with

$$P(f,g) = (\sigma_m f + U\sigma_m g, U\sigma_m f + \sigma_m g).$$

Hence

$$P(z^{k}, 0) = \begin{cases} \frac{m-k}{m} (z^{k}, z^{m-k}) & \text{if } k \le m, \\ 0 & \text{else} \end{cases} \text{ and }$$
$$P(0, z^{k}) = \begin{cases} \frac{m-k}{m} (z^{m-k}, z^{k}) & \text{if } k \le m, \\ 0 & \text{else} \end{cases}$$

This shows in particular that P is a projection. We have  $||P|| \le 2$ .

**2.2. Lemma.** Let  $(n_k)$  be a sequence of positive integers such that  $\sup_k n_k = \infty$ . Then

54

$$\left(\sum\limits_{n} \oplus A_{p}^{n_{k}}\right)_{(q)}$$
 and  $\left(\left(\sum\limits_{n} \oplus A_{p}^{n}\right)_{(q)} \oplus \left(\sum\limits_{n} \oplus A_{p}^{n}\right)_{(q)} \oplus \ldots\right)_{(q)}$ 

are isomorphic to  $(\sum_{n} \oplus A_{p}^{n})_{(q)}$ .

**Proof.** Put  $X = (\sum_{n} \oplus A_{p}^{n})_{(q)}$  and  $Y = (X \oplus X \oplus ...)_{(q)}$ . Clearly, by counting all positive integers infinitely many times we see that Y is of the form  $(\sum_{k} \oplus A_{p}^{n_{k}})_{(q)}$ for suitable  $n_{k}$ . Using Lemma 2.1. we see that  $(\sum_{k} \oplus A_{p}^{n_{k}})_{(q)}$  is isomorphic to a complemented subspace of X. Moreover, by Lemma 2.1. for suitable pairs of components,  $(A_{p}^{n_{k}}, A_{p}^{n_{k}})$ , we obtain that X is isomorphic to a complemented subspace of  $(\sum_{k} \oplus A_{p}^{n_{k}})_{(q)}$ . Since this is true in particular for  $(\sum_{k} \oplus A_{p}^{n_{k}})_{(q)} = Y$ , Pelczynski's decomposition method yields that Y is isomorphic to X and then, that  $(\sum_{k} \oplus A_{p}^{n_{k}})_{(q)}$  in general is isomorphic to X.

#### **3** Some convolution operators

For  $f(z) = \sum_{k\geq 0} \alpha_k z^k$  put

(3.1) 
$$(R_n f)(z) = \sum_{k=0}^{2^n} \alpha_k z^k + \sum_{k=2^n+1}^{2^{n+1}} \frac{2^{n+1}-k}{2^n} \alpha_k z^k$$

Then we have (see (2.1))  $R_n = 2\sigma_{2^{n+1}} - \sigma_{2^n}$ . Hence  $M_p(R_n f, r) \le 3M_p(f, r)$  for any p and any r > 0.

Moreover define

(3.2) 
$$(P_m f)(z) = \sum_{j \ge 0} \alpha_{2^m j} z^{2^m j}$$

 $P_m$  is a projection and we have  $M_p(P_m f, r) \le M_p(f, r)$  for all p and r > 0. This follows from the fact that

$$\left(P_m f\right)(z) = \frac{1}{2^m} \sum_{j=0}^{2^m-1} f\left(\exp\left(\frac{2\pi j}{2^m} i\right) z\right)$$

since, for any integer k,

$$\frac{1}{2^m} \sum_{j=0}^{2^m-1} \exp\left(\frac{2\pi kj}{2^m}i\right) = \begin{cases} 1 & \text{if } k \in 2^m \mathbb{Z} \\ 0 & \text{else} \end{cases}$$

**3.1. Lemma.** Let  $n_1 < n_2$  and  $n_3 < n_4$  be positive integers and put  $X = span\{z^{2n_1+1}, z^{2n_1+2}, ..., z^{2n_2+1}-1\}$   $Y = span\{z^{2n_3+1}, z^{2n_3+2}, ..., z^{2n_4+1}-1\}$ . Fix some radii r > 0 and s > 0 and some constants c > 0 and d > 0. Consider the norms  $M_p(f, r) c$  on X and  $M_p(g, s) d$  on Y. Let  $m = \min(2^{n_2-n_1-1}, 2^{n_4-n_3-1})$ .

Then there is an isometry  $i: A_p^m \to (X \oplus Y)_{(q)}$  and a projection  $Q: (X \oplus Y)_{(q)} \to i(A_p^m)$  with  $||Q|| \leq 2$  such that

(3.3) 
$$((R_{n_2} - R_{n_1})f, (R_{n_4} - R_{n_3})g) = (f, g)$$

whenever  $(f, g) \in i(A_p^m)$ .

**Proof.** Recall that, for  $f(z) = \sum_{k \ge 0} \alpha_k z^k$  we obtain

$$((R_{n_2} - R_{n_1})f)(z) = \sum_{k=2^{n_1}+1}^{2^{n_2}+1} \alpha_k \frac{k-2^{n_1}}{2^{n_1}} z^k + \sum_{k=2^{n_1}+1+1}^{2^{n_2}} \alpha_k z^k + \sum_{k=2^{n_2}+1}^{2^{n_2}+1} \alpha_k \frac{2^{n_2+1}-k}{2^{n_2}} z^k$$
(3.4)

in view of (3.1). Hence

$$(P_{n_{1}+1}(R_{n_{2}} - R_{n_{1}})f)(z) = ((R_{n_{2}} - R_{n_{1}})P_{n_{1}+1}f)(z)$$

$$= \sum_{j=1}^{2^{n_{2}-n_{1}-1}} \alpha_{j2^{n_{1}+1}}z^{j2^{n_{1}+1}} + \sum_{j=2^{n_{2}-n_{1}-1}+1}^{2^{n_{2}-n_{1}-1}} \alpha_{j2^{n_{1}+1}}\frac{2^{n_{1}+1} - j2^{n_{1}+1}}{2^{n_{2}}}z^{j2^{n_{1}+1}}$$

X is isometric to  $Z = \text{span}\{z^{2^{n_1}+1}, z^{2^{n_1}+2}, ..., z^{2^{n_2+1}-1}\}$  endowed with  $M_p(\cdot, 1)$  as norm. Let  $T: X \to Z$  be the canonical isometry. Hence  $P_{n_1+1}X$  is isometric to

$$TP_{n_{1}+1}X = \operatorname{span}\{z^{j2^{n_{1}+1}}: j = 1, ..., 2^{n_{2}-n_{1}} - 1\} \subset Z.$$

Now, for  $f \in A_p^{2n_2-n_1-1}$  put  $(Sf)(z) = f(z^{2n_1+1})$ . Then S is an isometry from  $A_p^{2n_2-n_1-1}$  onto  $TP_{n_1+1}X$ . This shows that  $P_{n_1+1}X$  is isometric to  $A_p^{2n_2-n_1-1}$ . Similarly,  $P_{n_3+1}Y$  is isometric to  $A_p^{2n_4-n_3-1}$ . Hence  $((P_{n_1+1}X) \oplus (P_{n_3+1}Y))_{(q)}$  is isometric to  $(A_p^{2n_2-n_1-1} \oplus A_p^{2n_4-n_3-1})_{(q)}$ . Let  $m = \min(2^{n_2-n_1-1}, 2^{n_4-n_3-1})$  and apply Lemma 2.1. to find an isometric copy  $i(A_p^m)$  of  $A_p^m$  in

(3.5) 
$$\operatorname{span}\{z^{j^{2n_1+1}}: j = 1, ..., 2^{n_2-n_1} - 1\} \oplus \operatorname{span}\{z^{j^{2n_3+1}}: j = 1, ..., 2^{n_4-n_3} - 1\}$$

which is complemented in  $((P_{n_1+1}X) \oplus (P_{n_3+1}Y))_{(q)}$  by a projection  $\tilde{Q}$  with  $\|\tilde{Q}\| \leq 2$ satisfying (2.2). Define

$$Q(f,g) = \tilde{Q}(P_{n_1+1}f, P_{n_3+1}g) \quad \text{for all} \quad (f,g) \in (X \oplus Y)_{(q)}.$$

(3.4) and the choice of m yield  $(R_{n_2} - R_{n_1}) f = f$  whenever there is g with  $(f, g) \in i(A_p^m)$ . Similarly we have  $(R_{n_4} - R_{n_3})g = g$ . 

In [13], Theorem 2.5., the following proposition was proved.

**3.2. Proposition.** Assume that  $\mu$  satisfies (\*). Put  $m_1 = 1$  and let  $m_{k+1}$  be the smallest integer larger than  $m_k$  with

$$\mu\left(\left[1-\frac{1}{2^{m_k}},1\right]\right)\geq 3\mu\left(\left[1-\frac{1}{2^{m_{k+1}}},1\right]\right).$$

Then there are constants a > 0 and b > 0 such that, for every  $f \in B_{p,q}(\mu)$ ,

(3.6) 
$$a\left(\sum_{k} M_{p}^{q}((R_{m_{k}} - R_{m_{k-1}}) f, 1) \mu\left(\left[1 - \frac{1}{2^{m_{k}}}, 1 - \frac{1}{2^{m_{k+1}}}\right]\right)^{1/q} \le \|f\|_{p,q} \le b\left(\sum_{k} M_{p}^{q}((R_{m_{k}} - R_{m_{k-1}}) f, 1) \mu\left(\left[1 - \frac{1}{2^{m_{k}}}, 1 - \frac{1}{2^{m_{k+1}}}\right]\right)^{1/q}\right)^{1/q}$$

if  $1 \le q < \infty$  and

(3.7) 
$$a \sup_{k} \left( M_{p}((R_{m_{k}} - R_{m_{k-1}}) f, 1) \mu\left( \left[ 1 - \frac{1}{2^{m_{k}}}, 1 \right] \right) \leq \|f\|_{p,q} \leq b \sup_{k} \left( M_{p}((R_{m_{k}} - R_{m_{k-1}}) f, 1) \mu\left( \left[ 1 - \frac{1}{2^{m_{k}}}, 1 \right] \right) \right)$$

if q = 0 or  $q = \infty$ .

If (\*\*) is not satisfied and p = 1 or  $p = \infty$  then we have  $\sup_k (m_k - m_{k-1}) = \infty$ .

It is easily seen that the polynomials are dense in  $B_{p,q}(\mu)$  if q = 0 or  $1 \le q < \infty$  (see [13], Proposition 2.1.). In particular, for these q, this implies that

$$f = \sum_{n} (R_n - R_{n-1}) f \quad \text{if} \quad f \in B_{p,q}(\mu).$$

(3.7) shows that  $B_{p,0}(\mu)$  is isomorphic to a subspace of  $(\sum_n \oplus E_n)_{(0)}$  for some finite dimensional spaces  $E_n$ . We derive easily that, with the natural embedding,  $B_{p,0}(\mu)^{**} = B_{p,\infty}(\mu)$ . This is even true if  $\mu$  does not satisfy (\*), see [13], Corollary 2.3.)

We retain the notation of Proposition 3.2. In the following put

$$\alpha_{k} = \begin{cases} \mu\left(\left[1 - \frac{1}{2^{m_{k}}}, 1 - \frac{1}{2^{m_{k+1}}}\right]\right) & \text{if } 1 \le q < \infty \\ \\ \mu\left(\left[1 - \frac{1}{2^{m_{k}}}, 1\right]\right) & \text{if } q = 0 \text{ or } q = \infty \end{cases}$$

We have

$$\mu\left(\left[1-\frac{1}{2^{m_k}},1-\frac{1}{2^{m_{k+1}}}\right]\right) = \mu\left(\left[1-\frac{1}{2^{m_k}},1\right]\right) - \mu\left(\left[1-\frac{1}{2^{m_{k+1}}},1\right]\right)$$

and, by construction,

$$\mu\left(\left[1-\frac{1}{2^{m_k}},1\right]\right) < 3\mu\left(\left[1-\frac{1}{2^{m_{k+1}-1}},1\right]\right).$$

From this in combination with condition (\*) we derive

$$0 < \inf_{k} \left( \frac{\alpha_{k}}{\alpha_{k+1}} \right) \le \sup_{k} \left( \frac{\alpha_{k}}{\alpha_{k+1}} \right) < \infty$$

(see [13], Lemma 5.1.)

Now we have

**3.3. Lemma.** Let  $\mu$  satisfy (\*). Then  $B_{p,q}(\mu)$  is isomorphic to a complemented subspace of  $(\sum_{n} \oplus A_{p}^{n})_{(q)}$ .

**Proof.** This is essentially the proof of [13], Lemma 4.3. We prove the case  $q \neq 0, \infty$ . The proof for the case q = 0 is identical, while the proof for  $q = \infty$  follows from the biduality.

We have (in view of (3.1)), for any holomorphic  $f: D \to \mathbb{C}$ ,

$$(R_{m_k} - R_{m_{k-1}}) f \in \operatorname{span}\{1, z, ..., z^{2^{m_k+1}}\}$$

Let  $X_k = \text{span}\{1, z, ..., z^{2^{m_k+1}}\}$  be endowed with  $M_p(f, 1) \alpha_k^{1/q}$  as norm. Then, of course,  $X_k$  is isometric to  $A_p^{2^{m_k+1}}$ . Define  $T: B_{p,q}(\mu) \to (\sum_k \bigoplus X_k)_{(q)}$  by  $Tf = ((R_{m_k} - R_{m_{k-1}})f)$ . By (3.6), T is an isomorphism. Moreover, define  $S: (\sum_k \bigoplus X_k)_{(q)} \to B_{p,q}(\mu)$  by

$$S((g_k)) = \sum_{k} (R_{m_k+1} - R_{m_{k-1}-1}) g_k$$

whenever  $g_k \in X_k$ . We obtain STf = f for every  $f \in B_{p,q}(\mu)$  which follows from the fact that

$$(R_{m_{k+1}} - R_{m_{k-1}-1})(R_{m_k} - R_{m_{k-1}})f = (R_{m_k} - R_{m_{k-1}})f$$

and  $f = \sum_{k} (R_{m_k} - R_{m_{k-1}}) f$ . Moreover, we have, with the constant b of (3.6),

$$\begin{split} \|S(g_k)\|_{p,q} &\leq b \left( \sum_j M_p^q ((R_{m_j} - R_{m_{j-1}}) \sum_k (R_{m_k+1} - R_{m_{k-1}-1}) g_k, 1) \alpha_j \right)^{1/q} \\ &\leq c_1 \left( \sum_j \sum_{k=j-2}^{j+2} M_p^q ((R_{m_j} - R_{m_{j-1}}) (R_{m_k+1} - R_{m_{k-1}-1}) g_k, 1) \alpha_j \right)^{1/q} \\ &\leq c_2 \left( \sum_k M_p^q (g_k, 1) \alpha_k \right)^{1/q} \\ &= c_2 \|(g_k)\| \end{split}$$

for some universal constants  $c_1 > 0$  and  $c_2 > 0$ . Here we used the facts that  $(R_{m_j} - R_{m_{j-1}})(R_{m_{k+1}} - R_{m_{k-1}-1}) = 0$  if k < j - 2 or k > j + 2 (see (3.1)), that the  $R_m$  are uniformly bounded and that

$$0 < \inf_k \left(\frac{\alpha_k}{\alpha_{k+1}}\right) \le \sup_k \left(\frac{\alpha_k}{\alpha_{k+1}}\right) < \infty.$$

Hence TS is a bounded projection from  $(\sum_k \oplus X_k)_{(q)}$  onto  $TB_{p,q}(\mu)$ .

Finally we obtain

**3.4. Lemma.** Let  $\mu$  satisfy (\*) and assume that p = 1 or  $p = \infty$ . If (\*\*) does not hold then  $B_{p,q}(\mu)$  contains a complemented subspace which is isomorphic to  $(\sum_{n} \bigoplus A_{p}^{n})_{(q)}$ .

58

**Proof.** It suffices to assume q = 0 or  $1 \le q < \infty$ . The case  $q = \infty$  then follows in view of  $B_{p,0}(\mu)^{**} = B_{p,\infty}(\mu)$ .

If  $m_{k-1} + 1 < m_k - 1$  we have

$$(3.9) \quad (R_{m_j} - R_{m_{j-1}})(R_{m_{k-1}} - R_{m_{k-1}+1}) = \begin{cases} R_{m_{k-1}} - R_{m_{k-1}+1} & \text{if } j = k \\ 0 & \text{else} \end{cases}$$

Put, for these k,

$$X_{k} = (R_{m_{k}-1} - R_{m_{k-1}+1}) B_{p,q}(\mu) = \operatorname{span}\{z^{2m_{k-1}+1}, \dots, z^{2m_{k-1}}\}.$$

By (3.6), (3.7) and (3.9) the norm  $\|\cdot\|_{p,q}$  on  $X_k$  is equivalent to  $M_p(\cdot, 1) \alpha_k^{1/q}$  if  $1 \le q < \infty$  and to  $M_p(\cdot, 1) \alpha_k$  if q = 0. Since  $\sup_k (m_k - m_{k-1}) = \infty$  we have  $\sup_k \dim X_k = \infty$ . The space  $X = \operatorname{closed} \operatorname{span}(\bigcup_k X_k) \subset B_{p,q}(\mu)$  is isomorphic to  $(\sum_k \oplus X_k)_{(q)}$ .

For  $f \in B_{p,q}(\mu)$  and some subsequence  $(n_k)$  of the indices put

$$Tf = \sum_{k} (R_{m_{n_k}-1} - R_{m_{n_{k-1}}+1}) f$$

Then, in view of the fact that the polynomials are dense in  $B_{p,q}(\mu)$ , according to (3.6) and (3.7), T is well-defined and bounded.

Using Lemma 3.1. we find indices  $1 \le n_1 \le n_2 \le ...$  such that  $(\sum_m \oplus A_p^m)_{(q)}$  is isometric to a subspace Y of  $\tilde{X} = \text{closed span}(\bigcup_k X_{n_k})$  and there is a bounded projection  $\tilde{Q}: \tilde{X} \to Y$  with

(3.10) 
$$(R_{m_{n_k}-1} - R_{m_{n_{k-1}}+1}) f_k = f_k$$

whenever  $f_k \in X_{n_k}$  and  $\sum_k f_k \in Y$ . Define, for  $f \in B_{-}(\mu)$ .

erme, for 
$$j \in B_{p,q}(\mu)$$
,

$$Qf = \tilde{Q} \sum_{k} (R_{m_{n_k}-1} - R_{m_{n_{k-1}}+1}) f.$$

Then, by (3.6) and (3.7), Q is bounded. Using (3.9), (3.10) we see that Q is a projection onto Y.

The Lemmas 3.3 and 3.4. together with Pelczynski's decomposition method prove that  $B_{p,q}(\mu)$  is isomorphic to  $(\sum_{n} \oplus A_{p}^{n})_{(q)}$  if p = 1 or  $p = \infty$  and  $\mu$  satisfies (\*).

### References

- BIERSTEDT K. D., SUMMERS W. H., Biduals of weighted Banach spaces of analytic functions, J. Austral. Math. Soc. Sec. A 54 (1993), 70-79.
- [2] BLASCO O., Multipliers on weighted Besov spaces of analytic functions, Contemp. Math. 144 (1993), 23-33.
- [3] BONET J., DOMANSKI P., LINDSTRÖM M., TASKINEN J., Composition operators between weighted spaces of analytic functions, to appear in J. Austral. Math. Soc.

- [4] DOMANSKI P., LINDSTRÖM M., Sets of interpolation and sampling for weighted Banach spaces of holomorphic functions, to appear.
- [5] FLETT T. M., The dual of an inequality of Hardy and Littlewood and some related inequalities, J. Math. Anal. Appl. 38 (1972), 746-765.
- [6] FLETT T. M., Lipschitz spaces of functions on the circle and the disc, J. Math. Anal. Appl. 39 (1972), 125-158.
- [7] HARDY G. H., LITTLEWOOD J. E., Some properties of fractional integrals II, Math. Z. 34 (1932), 403-439.
- [8] HARDY G. H., LITTLEWOOD J. E., Theorems concerning mean values of analytic or harmonic functions, Quart. J. Math. 12 (1941), 221-256.
- [9] HILSMANN J., Struktursätze für Banachräume holomorpher Funktionen in mehreren Variablen, Doctoral Dissertation, University of Dortmund, 1985.
- [10] HOFFMAN K., Banach spaces of analytic functions, Prentice-Hall, Englewood Cliffs, N. J., 1962.
- [11] KABALLO W., Banach spaces of analytic functions with growth conditions, Nat. and Appl. Science Bull. 38 (1986), 291-311.
- [12] LUSKY W., On weighted spaces of harmonic and holomorphic functions, J. Lond. Math. Soc. (2) 51, 309-320 (1995).
- [13] LUSKY W., On generalized Bergman spaces, Studia Math. 119 (1996), 77-95.
- [14] LUSKY W., On the Fourier series of unbounded harmonic functions, to appear in the Journal of the London Math. Soc.
- [15] LUSKY W., A note on exponential weights, submitted for publication.
- [16] MATELJEVIC M., PAVLOVIC M., L<sup>p</sup>-behaviour of the integral means of analytic functions, Studia Math. 77 (1984), 219-237.
- [17] MATTILA P., SAKSMAN E., TASKINEN J., Weighted spaces of harmonic and holomorphic functions: Sequence spaces representations and projective descriptions, Proc. Edinburgh Math. Soc. 40 (1997), 41-62.
- [18] RUBEL L. A., SHIELDS A. L., The second duals of certain spaces of analytic functions, J. Austral. Math. Soc. 11 (1970), 276-280.
- [19] SHIELDS A. L., WILLIAMS D. L., Bounded projections, duality and multipliers in spaces of analytic functions, Trans. Amer. Math. Soc. 162 (1971), 287-302.
- [20] SHIELDS A. L., WILLIAMS D. L., Bounded projections, duality and the growth of harmonic conjugates in the unit disc, Mich. Math. J. 29 (1982), 3-25.
- [21] WOJTASZCZYK P., On projections in spaces of bounded analytic functions with applications, Studia Math. 65 (1979), 147–173.
- [22] WOJTASZCZYK P., Banach spaces for analysts, Cambridge University Press, 1991.